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Unit 1, Station 3, Round &,

Task 3
Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers

=2= 27 2) 84=2= 42 . 27

1. 42

1 10 r1
21+2= 101l 9 27+4= 613 4. 613

3. 4r3

g 9r5

7. 33
39-9=_ 413 6) 39+6= 0Or3

5 10 r1

9. 30

10. 14 rl
66+2= 33 8 61-6= 10+l - 29

12, 45
60=2= 30 10) 29+2= 141l
3=2= 20 12} 90+2 = 45

11)




Unit 1, Station 3, Round &,

Task 3
i; Dividing Whole Numbers Name: Answer Kev
Solve each problem. Answers
1) 761l ) 2903 3) 9913
7533 3381 6/597 1 __J6rl
3 E 3 2. 293 r2
33 28 59
49 27 54 ; 99 r3
43 11 57
42 9 54 4 2513
: ’ . 5. 56 r4
1) 2513 5) 5614 6) 21912
8203 8f452 4lg78 ¢ 21912
9 0 8 . 2315
20 5 07
E 40 i g7 210 r1
13 52 38
40 18 16 9 120 r1
3 4 . 10. 56 rd
D 2315 8 2101 1201l 126 rd
1166 3631 22a1 e
0 6 2 12 51r2
16 03 04
14 3 1
26 01 01
21 0 0
3 1 1
10) 5613 ) 126r4 12) 5112
4227 7886 71359
0 7 0
22 18 33
20 14 33
27 46 09
24 42 7
3 4 2




